coffee break
Riy

Juoogdootgbbod
2,

gbbobooobboboodon

oobo0obb eO cO00000O0O0CODO o=
ooboobooooooooog zeuobogoo Yy v

o— ©
vo UOODOOOOO00O0O00O z, z x

t=0 t=t
gooobobbud v=wvg+at

1
0oooooOoooo x=x0+v0t+§at2
000000000 v?—v2 = 2a(z — z0)

ooboooOobooooooooboooooboboooooboboottoooooan
ooboooboobob <00 -0000O0C0CO0OCODOOOOODOOOODOOOOOOOO0
oooo

gbobobuogogbboboao

obooobOooboobobooboooboooOoooboobooobooooooboOooboooo
bobOobOoo0ooboooobOooobOobOoooob0oobobOobObOOobOonDg mOd
0000000 wm/200000000

ooooooood ma=F
000000000 mv—mvyg=Ft

1 1
ooooooooo Emv2—§m1)02:F(x—xo)

oobocooooobOoooooooooobboooobOOobOobOoOooOoobooooogn
obooooooooobooooooogosboooooooobooobooooooogonn
0000000000000 0000000U00O0tO (t—t)OOoooooooooo
ooom
oobOobooooobooobooboooobooooboobooooobooobooboooogoon
obooobooooboooobooooooooooobooooooboooboooboooogoon
ooooo0Oo0ooooo0oooO0000ooObO0o0ooO0Ob000b0O0Ome=F0O0O0O0ODO
ooooooooon



BFUhiEL3 5
ma=[
Ay - aAf Alw) = FA | |
A(v*)= 2aBx A(%u’) - FAx
By (ERF) oHR MEE ("E) OHP
. J

goboboood

ooocooOoooooobooooboobooogon

t t
v—voz/adtDaD mv—mvoz/th
0 0

02—1)02:2/ adr 0 -0 §mv2—§m002:/ Fdx
x Zo

0

ooboobooooooboboobobooobOoboOooobOobooobOOoboooogn
oboooooooooboboooobooooon

dv d(mv)

—=a00 -0 =F

a ¢ dt
1d(v?) d3me?)
2 dzx a dzr

ooboobOoO0ooooOoobOoooOobooocooOoO0ooooOoDbOoon

Y dr v

dw?)  d@w?)dv | dvdt dv 1
iz dv dz dtda

uboooboooboboooboooboobooda
ogboooogn

ooboooOoooooob+t:tooboo0O00 00000000
ooboooOoo0ooobOob 000000 -00000000000O0

gboooboobobobooooboboobobooboobobobobooboboonboooon
gbooobooboboboobobooboobobobooboobooboobooobobooonbooon
ooboobooooobooooOobooooboOoooboooobOooboooboooogn
ooboobooooobOoobooomooooooooboboboobooOooooooooon
aon



